=1
OH = ‘F“

Chapter 01| 2%t0| 71X

R T

1 Do you know the sweet music? 02 The horse ran
03 @ 04The little bird flew up into the
sky. 05 The elephants in the circus are very big.
06 07@ 08Q

p. 12

very fast.

SHEAR! sweets HARI musicE oilA AISICE

2ARl very= CH2 2ARI fastS YollA ARG

@ two cup of coffee — two cups of coffee

into the sky= flew upg $AIGH}

in the circus=the elephants= $Alst= S2AI0ICH

@ Z=0{7t The bookso|=z is — are

@ Z0{7t Dean and Janeo|2& is —are

® 047} Lots of peopleo|=z looks — look

@ 047} The koalao|=22 are —is

7 @ brown eyest= the dogg MEsl= LolZ2 ‘~2 JIXI 9|
olojol Fx|At withE Hoi £Aloi7 with brown eyes(zA
== 7FEDZ Mok Fict,

8 fors ~2 2slf, aboute

A ol & Xhe A2 ele Aol SRstict Hofl & Ttk

A2 TN B2 AIME0| o sk 22t kg HEsat

=

S & 7HX| O10|C|0IE HOJEXY,

cCUhOON—=

~0i| thstof 2h= 2J0|S LIEHHT)

0l

Chapter 02 | 22| SHEH

Unit 03 |

Al.1 2.2 3.1 4.1
B 1. The fried chicken smells delicious.

p. 17

2.She became a famous artist.
3. He dances in his room.
(O]
D1.(D) 2.(B)
A TFO+HSAHBARLE 184 IF0{+42US LiEtE S
O{(E8Al),= 284l0]Ct
B_ 1. "F0+ZZS UEHHE SAHTHE(HEAN,
. 50+ MEf 2] SIS LIEHH = SAHFZEO0,
. R0 +SAH AL
C @ ZZ2 LEE SAF look CH20l= 202 S#EAIE 20}

A=)

D_

w >

o

happily —happy

1. "=0{+beSAH+ZZAE0,2 M= 284 2R0Z beSAte|
FHROZE BAE £ 2 gt
2. ZZ2 LIEt= SAHCIS0lE 202 YEAE 20,
Unit 04 | p. 19
A1.for 2.to 3. of
B®

C 1. She likes difficult riddles.
2. He didn’t tell the truth to me.

D (B)
43N S 33A BHOR HIB 1, 0| Yo makes H

x|AHfor, send=to, ask= of= #ct

(@ "give +XI=x0{+t0 +71=%{0{,0|22 gave to me it —
gaveitto me
1. 38Al(=x0f: difficult riddles)
. [0+ SAH+ RS X0{ +1o + 7 HEE 04,
_ like ct2oll= ZHESH0{9t XM= X01E SHA| £ 4 YUt
Unit 05 | p. 21
A1.toread 2.him  3.toopen
B1.® 2O
B-1 (D)

C 1. EveryonelEverybodylcalls him a liar.

2.1 found math interesting[funl.

3. Tom told his (little) brother to stay (at) home.
D 1.(D) 2.(D)

SRZAL0{7} ORI 534 27o|C,
. EXALI0{ZE HAPLOIL|ZH SBAIS Lt
makes SHZHO|Z YAt HEAIS 2H=Ct,
584l 2xtoz 2MAH07t HAF (him=a liar)olct,
5A ZEo=Z SXZH07I YZAlo|Ck
tell2 to 2 ™AIE SXZEH0{Z ZH=C},
. keepo| 2xziH0{Z HBAIS 20,

(D) busily — busy
2. asko| EXAHZ toRFAIS 2r},

(D) help —to help

= W N =N =



Unit 06 | p. 23
A 1.makes  2.moving  3.got
B 1.use 2. move[to movel

C 1. He will have them watch the soccer game.
2.She saw the singer advertise the blue jeans.

D (B

D-1(B)

AliSAfmake)s SXZHE0IZ SALUSES St
RPztSAfeel)s SXAD0IZ SAROILL BHLALS S,

geto| AlgSAIR] ojp|2 M I, SXAHO|Z tORFYAES 0t

"help + 20} + SEZL0|SAIRIE /L0 AR,
0| +AHSAH+ B0} + SXALIOSAIS),

1,
2.

3.

1. TAIISAHlet) + X0} + BXHHOSAIS),
2.

1,

2. Z0|+ X2SAH+ BR0| + SXALOSAI),

TRIZISAH 2RO+ 2XZD0|, 20|02 2HALOZ SR

O[Lt HTHZALS £2CH

R T pp. 24~27
01@® 02flying 03 @ 04for 05@ 06Q 07 @
08 ® 09 tohelp 10 the musical ticket for 11®
12 to play — play[playing]l 13 to — of 14 The
game made the players tired. 15 Can you help me
(to) finish the report? 16 17@ 18 @ 19 ®
20 She made him clean theroom. 21 @ 22® 23
® 243 25@ 26[Sample] | will turn the water
on.

27 [Sample] (1)1 walked. (2)She felt sad. (3)
You read books. (4)He gave her the bag. (5)They
made us carry this box.

28 Her mom boughtlgavel her a new bag. Her dad
sent some books to her from London. Her friend Yuri
made a doll for her.

N =

NO O~

(ORONORGR= Rz [ RORSIS =S v

XZSAH-SE0 + 2HZH0|, TR0, ZxZR0Z (&7t
20| SRRALS Rt

'sound +&&Af, ~atA S2ict

geto| 354! 2xlof MY 1 ZFE=X0] Yol Tx|AL fors ¢t
advisegt gete 5 SMZAHZ tOE™AIS 20}

43A 25T 534 280 BF £ 4 U= SAKE makeolch,

- 72 LEfLE SAHlook Foil= FZiE0l2 HBAIS £ct

* 'make +Z%0{+ ZSXZ{ L0 FHEAD, TL20|Ct,

SAb haves 284 28ofl= M0|X| H=Ct

oo

9 Texpect+2x0{+2MAL|tORHAN, 2O 554l 2xbo|ct,

YEt od

rbuy +7F==x{01 + 2= x0], ="buy + ZE=H0{ + for + 2k

1

1

1

1

2

3

14

1
1

1

1

1

2

21

N
—

N

2

24

5
6

7

8

9

0

2

3

N
S

NN

o O
o} ||)|I]
fjo mjo

T

250,

(=)
azs

LiEtLE= SAt feel Ci20ll= FZHE0Z HRAP} 2ot
sl22 smoothlyZ smooth ok i,

"RZSAH-SH0|+ 2EZE0], PEOR SEZHO0R SAIRIHO|
Lt SIXHEAIS £t

ask7h 34l 250l MY o, ZHIS 0] Yoil= Fx|Atof S 2ot
701+ SAlmake)+ 20| + 2XAL|FEAN, TL20|Ct.
helpE =xiziolz SAIRIED toRTAS S o & 4 Ut
‘TE0H|AH HFEZ SHK| L2t RERICY 2k= olo|7} Elojof a2
rask+=x0{+not +Sxz{=ofto 2HAD, FL20| H

S | Liol JEMES MEE T Soig sl

LS EX| LAUCL

beSAe| 20 HES & 4 QU= A2 2ADL OtL[2t HEAlO|CE
friendlyS Mefst LIMXl= 2% £ALO|CE

@ AESAle] EXAENZE= SAHEES MOF sl22 goingol
OHl go7t 2fof Sttt

make7t 3A! 2F0IA A o ZRISH0| Yolls TXIAL fors
204 LIHX = 2% to7t E0{710F Sit

584l 2¥oz "AMeEA made)+SXo{(him)+SAt& S (clean)
~,9| &MZ HiESICE

23] i | Xz Y|

78 30Y, EQY

Hotet Otit= EZSIAC. & 22 LoilAl 2set Hofl lestn
SHACE Li= TSu £715 o7 (2 =0 AUk W A=l 22
T HBERXR, LIt AFESHE XS SIS deNltt. RRE2
O a2 ARl X2isftol. SHoAl =2 oifFal LR
Jajn 50| 28 2xE BRI=X| Eelsl. 2t TEsiNs ®o
ALk,

USE W 22 2 =X 2 g UE
MO LM L= 2IS0IA EAXIS
El AlUS ot 32iA Li7H 2 HAXIS sho SHck
tell2 SXAH0Z toRFAE, AGSAR! let2 =XARNZ

2
SAFEESE FBICh

A ehECt Ee

tolr

k=2
=
ek @Rt Blss O 2R

o

0IS7} M7XIE slek= K|S0 U2 EX| ¥ HEE ATt it
£ Y Fofl S0{7Hs 0| RIAAZLE
DIS7} of X|50| U2 EX| =X I 0|R= AZTE QK| St
26| s | MES mhec|x| orle.,

2= ZolM 22 Horet wig Avlsin Alofe. o] a7l 4
EEXZ HMQ. O 2F0IE2 XM MERZ 2QLch o2g
0| 22 S, ANo0| Zexls 2e 27 2 AU 22 FaH
LZ0|7} CHA AF0| El= S 2 4 S HYLCH K2E2 A
e JTA AF =D AX| oE JERIQ? JHECH 22 Y

HISEX| DA,

© XIZISAt seel| SHZAENRE SAIHOILL BTHEALS Mok
S22 to break”t otLlzt break[breaking]7t =lofof Stct.
0] 22 S0|12R Aoz £ Hotsh= Ul thell A&stn UCt
£ MEO| Z2kl= A2 = 4 ACtn o5 Zaprl o

A
7| flalis= &5 E0{0f BTt

I



NER )|
27 wied RE 7IE L]
1~5A0l 5 bRES 25 & 6%

I2ES E 53

32HS & 43

Fluency PESEYN pe
12HE2 & 28

E20| YK YL HE MX| Rt (0]

=HOILE ZXte] @F7H0~H US 43

=HOILE HXtel @37t 2~37 UZ 33

Accuracy 2L EXIe| @37 470 US 23
2HOILE ZXte| 227t 5 US 13

ZHOILE HXte] 237t 67H ol AU 0™

28 wited RE 7IE L]
TOSAE 285t 2 271 018 & 4

Fluency SOISAIE 283 2HE NS 28

20| SEEX| UL S MX| R (0F=]

2HOILE ZXte| 2370~ /US 43

Accuracy ZHOILE EXte| @37t 2~37H US 23
ZHOILE EXte| @F 747K Ol AS 0™

AL EOF

Her mom bought a new bag for her. [Her mom

gave a new bag to her.] Her dad sent her some books

from London. Her friend Yuri made hera doll.

AL

unito7 | Practice Test
A1l. U XH= 742 2. EHAIZ E}7 |2 ZAIEICH
3.0/ M2 el=Zdolct 4. sieol & He

B 1. how to write 2. what to cook

Chapter U3 | to

3.howtoget 4.wheretocatch
C 1.to be afamous pianist

2.to see the pyramids

3. told him to be quiet

C-1 whatto say

D (D)
A_ 1. 70| 228 sh=to
X

2, 4. =2X0| H5t2 Sh=to 2FAL
3. 20| HES Sh= to R FAL

B_ "o|2At+toRHAL
1. a business letter —to write
2. fordinner -to cook
3. tothe airport —to get
4. the bus —to catch

9| toR AR} 0j22l= 017E Holof Bl

p. 31

Al 22 (o) A
A

B 1.0n
C 1. noplacetosleepin

1. 20| A2 Sh= toRHAL
2. SX0] A2 sh= toRFA

=
=
Sx{27{H0f G212 Sh= toRHA

W +TO R AL ~h= YIS IO

p. 33
2. 202 M Azt

3. SASHA M AL 4 LS ZAE AR

3. with

2.something cold to drink
3.achance to travel to Canada
4. time to answer all the questions

D (©

ol| U= (CHBALS AleH= tORTARE "~ &, ~6lioF & 2 siA
sict,

1. 30| 2l A= Zd0|=2 ono| Z3icCt

2. 2! otof| A= 240|122 in0| =35It

3. 217e} olop7[6k= Zol=2 with 7t =esict

1. "BAHHTOERAN+MK|AL

2. TchHAH+to2&AL, something®{2! -thingez BLi= A

2 &&AHcold)7t FHoilA -Alstct
3, 4. "HAHTOERAL

pocketsE $AGH= toREADH LRSI, 2742 FoiL| K0 2
= 740|122 inS Mot stk
unito? | Practice Test p. 35
Al ELI2ZRI2 27| QeiAf 2. B[R]
3. S0l 4. Q2B IHM CIXjo|H7} =IQICH
B1.® 20 3.0
C1.® 20 3.0
D (B)

1. SXS LIEH= toR=A

2, 3. ¥olS LiEtLl= to AL

4. Z0E UEl= toRZAL

1. 304 | 2= 27 Snt HERIE

=

3.5 | 710l Aol Al =257 | SIshM 252 BA 2X5H0E
gt - =25

1.to ask 2.to show 3. to wish 25 ‘~&}7] 2IsHAf 2| 2|0]
2 Mt



D_

A_

do one’s homework £x[sict
‘XI5 | IsHAT 2h= 2|0|7t £|0fof S22 to AL MASICL
Unit 10 | p. 37

A 1.to write Chinese characters
2. to work with them
3. to drink this water
4.to watch a baseball game in the stadium
B 1.forher  2.ofyou
3.of him 4. forJohn
C 1.ltis bad to eat hamburgers every day.
2.1t is necessary to pay attention to your
teachers.
3. Itis very important to study English regularly.
C-11.Itis crazy to wear a heavy coat in July.
2.ltis easyto send an e-mail.
D1.(Q 2.(B)

Tt is+agAH+for+ XD +to 2 &AL 20N ZIF0l= to 8-
AtolEt,

1, 4. to2AL2| o|n|Ato] Fof= Tor+ SURKE =), FEH= 220}

2, 3. Al HZo|Lt EH=E LIEHHE At FOIM 2lofAfel Zof

£ "of+2x7, Hel= 2ot

_ ORI toRFAIS FIZ 2T, 7150 it 30§ Xi2jof| AfoF St
D_

1. (O ziz0fo|=z for bring2 to bringoz Mot 5ict,
2. (B)= tozxAtel ojnjAte| Z0{0|=2 youZ for you= Mot
ict,

Unit 11 | p. 39

A 1.enough 2.too 3.too 4.enough
B 1.toobusy 2.forme  3.oldenough
C 1.too weak to feed her two babies
2.too hot for me to drink
C-11.old enough to stay home alone
2.too late to call him
D (D)

1, 4. "&@gAt+enough to R &AL

2, 3. "t00 + HBAHtO S AL

1. 2N 2 ~sHA & 2 QICE 2k 2I0j0|2 2 Too +EHEA
+ORHALE MOF Bk,

2. 230| Fojet that®™ol Foi7t clza2, izl toRFARR)|
olnj42| =0{E MoF Bt

3.JennyE HF of2{M AREIE ALEE 4 glt Too+EEAL
+HOEHA(AR ~aHiA] & 2~ giCh),

= Jenny= HFEE AEE UHE FE3| Lo[7H SX| Ut

ot+agAt+enough to 2 ™A~ 2 £25| - -6HK| 2T,

C U5 ~5liA & 2 Qirt: too+EEAK+for + SR +to 2 R-AL
D_ 2oy ~& otE SE5| --5icf 2 2ot Zlo{o StEE THEAL
+enough to2&ALE Mok BiCH
R T pp. 40~43

01® 02® 03® 04tootiredto 05 It,of 06
enough, cook 07@ 08@ 09 quickly for us to see
1M0howto 11@ 12® 13 @ 14tobuy 15kind
enoughtotakeme 16 ® 17® 18Q 19 @ for—
of 20whento 21She needs a chairto siton. 22
It is not a good place to run. 23 @ 240
25 @to apologize ® to show ©to show 26®

27 (1) to read some books  (2) to send a
letter [parcel]  (3) to see [watch]a movie

28 But she was too nervous to talk about it with him.

It was too difficult for her to talk about

(&, I

O © N O

10

11
12

13
14

15
16

to help one another7t 2&2| ZI0{2 0I5 ChAIE 7150 it
0| S0{70F it
I’m sorry to hear that. 1 42 soL| & oL} (2o
Aol LEH= toRFA

71204, ZIF0] TLR0ICE 2lnjae| Foj=s toRHAL Aofl for+=
7371 O| °4EH§ ME}
00+ SEAEAN+TORHAL LT ~aliA -8 2 glCt

Aol Mzi0|Lt EH=E LIEHHE H8A} carelessyt ooz of
ol&tel Foj= Tof +252, = 20t
THEAHEA+enough toRFAL ~& B3 23| --SiCh
O|2AF why= toS AR} BHA| MO|X| PH=C
@, 0B, @ 6 IS 88 @ 2AN 84
50 +EAt+that +Z0{+couldn’t + SAME, = t00 + EAt+to
SEAL
to2FAte] o|ofate| F:0f= to AL of £2Ct
TO|2AH+Z0{+should + SAFYE, = "O|2AHHtOREAL,
"how +to &AL, ~5l= Hi
@HRIE =01 @, Q0 6 7=
0Tl 2E 6 2AI 8 (%’51) @ 2AE 89 (&e) @ ¥
SN 8Y B, @ 3ANH &
0Tl 2ET @ A %t.':* @, © Q A 8Y © 2AX
(=
~5i HOIM 7H A 0|22 'BE g LIEH = 2ol ZRsict
rHEA A +enough toRFAL ~3 B2 23| -SiCH
@ Tso+32AHthat +Z0{+can’t +SAFIE = T00 +SEA}
+togE &AL, 0122 She is too busy to meet her
boyfriend.ztz sHof it

r
(222)

=

H

=
e
2
S

I
Jd



17
18

19

20
2]

@ ~e ERsl= A
decide= tost
(=
SR Jenny7t 2t “OE O S
Ho| glol. 2= ML Alstn FEot J2iM F1R717F M
Mikes o] 42 SIS uf, 1 7HE Ob B7|2 ZAIRICH 2= O )
£ UX|7] flol &2 LHUACL
kindh ARzto| M?dg LIEHH=
Tof +2xz4,02 Mo} it

x| ~SX[ = 'when +to £8AL | SEfZ L£C,

At a chairg #AGke S8AM 82| to 2 ™At TRsHH, a
chaire HxIA} onol SXofo|=22(sit on a chair) 2% Zof
ono| 2tof sict,

0|22 2 M Toj| MxIAF with7t 2R3l
HMAIE 2|2 FstE2 ©= to peto| =ofof

r9£

H = TR Tl

on

=M

ggAoloz ojujael Fofs

22~24] A |

22

23

24

25

Alstat Afaf2 o 2 X|<o|ct
OfLict TaiLt o o ARMSS Ee ofziollM 22l7| 2fsh A
700l Zict 252 &= MEM I8 AAZRE AlSGH HOfSICE
JeiM 252 Marathon des Sablesoll &7(8ict 21 of2HEo|
N OS2 256ZZ0|HE 7Y
x| CpCt,

ax2 270l E2 A0t

Sot 2RIt 152 ARle| S, R

oS 2 s Ay
Je2ln Fde
‘gapjol £2 Ha'2tn e
placeE $Alsk= Fefolct,

ga7lof £2 A= OfLXR o ofE ARSE2 7|2 2ith=

D2 to runo| 22| a good

SE0| RAIHAHL,
® F7IRIS0| 2IF 24, R, IS 7IXIx ChAof Bt
26] M | & MM,
3| ofth= M7t MAEM Al=2|Z IR, A of2tES=el
O|720lL} TitoS 7toll ol =Afztoll Hi27tM Z&sie. HE

=
o XM= EME0M 2 =M S LA0IQ, O M2 Sl2ist 0
OfLt AIZIoZ 7IS301. XM= Titooll 1 MS 2oz A

+

of
Q. SIXIgH MM T FCiE =AM s mafmolA CHES 4~ ©f
Ch SHEore. J2iM M 8% FAollA TitoolAl 1 g 2o
& AlEoloR. XM= Ml o7t =AM 2XIE Lo &
2 S0 - e
25 @ wante| 2xzH0{Z toRHAR! to apologize7t 2lof &t

ot @, © SAt wantet plane| SX0Z to2EAD} Qtof St

26 @ Q22| oftit= 2|7t 2 MAHIA Atzfsl7 IS BiCt,
M=H )
27 g i 7|1E kS
2E 280 gs il & 44
2280 He Wil & 2%
Fluency -

12850| g2 Wil & 17
3t 25IE Hattt ©g MX| 28 0d
2oLt &t 287t 0~7H S 33
Accuracy | 2do|Lt Hxle| @&7t 271 QIS 2%
2WolLt HRlo| @571 371 014 US 0H

1)to borrow[return]a book[some books]

(2)to post a parcel / to buy some postcards / to buy some

stamps

(3)to buy movie tickets

28 e A 71 L]
FOIZI S AIEoI0] 22EHE BF & 23
Fluency 12224 13
ot 23T HER P2 M| 28 0%
2HOILE ZEXte| 2370~ /US 23
Accuracy ZHOILE EXte| 237t 2~37H US 13
ZHOILE ZXte] @F 747K ol US 0d
Chapter 04 | SHA}
unit12| Practice Test p. 47
Al F7IEZ= A2 &
2.510/1Z [ o] 7h= Aot 3. EEE H= A2
B 1.inviting  2.havingaparty  3.taking pictures
B-1 being

C 1. Driving fast in the rain
2. playing basketball with his friends
D (D)

SX0 5t ~sIE,
of 8K beE)\ QL SHA): ~
. 30| ¥gt: ~vab |, ~ole A
XA CHS Ol SAPEE e SHANS 2Lt
HIZt2 Z0{0|2 2 SHAKdriving)2 AIRISITL
. H17i2 love ol 2xojo|oz =
0f Het2 sh= STAL 2fof St

w
+>+N.—\r>4w!~>.ﬂ

unit131 Practice Test

A1 Pl 2.8 =M 3. iRt
4.TH71 SBARZ 4 SXHEAR, 2

B 1. The girlwaving her hand
2. iswalking in the park

—
RTUE0

3.is selling flowers

4. Let’s go to the swimming pool
c1.0 2.0
D 1. Thereisamanrunning

2. dancing to the music is my sister

H SR At0ICE

D2 AXHEATE BAIE £416
Awaving) Fol| 2xoj(her hand)7t
girhZ =ollM Al

) ‘Ng}j_ ol |

EX0|Lt 2| 2jojo|H SHAL, ~ola U

te gAo|ct &
ooz HAlR(the

HAKplaying)= Alzfeict,

p.

49



. Z1840| o|0|0|= 2 The SAt+SHAHEAL, HEZ L0t

. 207t LRS5O R TheSAHESHAL &
~5ixt: Met’s+SAME,
STAEOZ M1 H0|C,

HEHZ 20

(g}

ZIdo| on|E LIEHHE SMEALF 401 H20|Ch

SN SR eN

o

THEAKS HAFY@ man)2 oM SAISICH

2.The girl=she. sixi2AHdancing) Soi| $AI0477t Qoo

2, S ZAThe girl)2 oA 2-4l8ict

Unit 14 | p. 51

A 1.eating 2.tosee 3. going
B 1.watching a quiz show
2. meeting the president yesterday

cD D1.B) 2A

A_ 1.stop2 =2x0iz SHAIE F3ict,
2. hopet& S=02 to BHAIE F3ict
3. give up2 2X0{Z SHAE Fsict,
B_ 1. enjoy= 2x0iz SZAIE Fdich
2. 3j742| Y2 forget+ESHALR LIEFHCE
C  enjoy=SyAIE 2x0=2 z2t=c}, (D) to talk — talking

D 1. 78 Uz o 22 = 28 UX| Lk 0|22 0ol U2
LIEHH= to2&AHto lock)= 2Lt
2. x|t shofl Satofl ZHE 22 7|Xd6k=s Z0|122 1i{9] US LIEHY
£ SZAtgoingS £rt
R T pp. 52~55

010D 026G 03B 046G 05@ 06@ drawing ® to
study 07 @ 08 paying 09studying 10@ 11@
12 stay —staying 13are—is 14®@ 15 Wouldyou
mind taking care of my dog 16 plan to finish
reading this book 17® 18® 19watching 20He
is proud of being a soccer player. 21@ 22® 23
@ 24@ 25 (o takeing —taking 26 Pimples.

27 (1

(storles) and skating

) listening to music (2) writing
(3) getting up early (@)
28 Thank you for

inviting[Thanks for inviting], talking with your

playing with my (pet) dog

friends, Meeting new people[To meet new people],
to see them again, saying goodbye

—

Foizl 234 D ST, @~6 BrAL
2 ® HHA OIS0l SAVL 8 1 53

xAtel X072 4 glok

b

0

.aman=he. SIYEAKrunning) Soj| $AI04727} ooz 5

AIS Mot BiCt toREA=E H

w

(8]

o N

10

11

12

13 8=

14

15
16

17

18

19

20

@, @ F0{0|22 STAME 2L @), @ XA} CIS0l= STAE 2
Ch ® sorry= tORXAE FsiM ~6H =l [Zolcf 2k= =
2 LIEHHLCE

finishel 202 HALLL HiFAL &
=&+ gl

decide:= toRHAIE SHO= =Lt

@ TRIAL CH20l SAZE 2 1 SHAE 20t

® hope:= to$’§;A}% Z2H0{Z Zh=Ct

000 63y @ HIHEAL

o] HRIS kﬂﬂd Aralg gle Ziojsz forgot Ci2ol=s S
HAF payingS 2t

mEAN BRSK= %S BE 20|

=2 M A
TAE £ 4 9o

L} to &AL

o2 stopped CiS0l= S
studyingg 2},

@ give up CH20l= SHAIS 2t

gave up to be — gave up being

stop to smoke: IS mR7| Qs 2Lt

stop smoking: il mjR= %S HECh

TIXIAL RSOl SAPE S [ STBAIE 2L

AZEFOZ M 1 SAl= B SALS 20

©@ Bo| thetez =ot ool 2He 248 7|Yst=LF= 2|o|7t Elof
oF 5l22 meeting2 to meeto= 1o} it

Would you mind + SHA} ~7: ~aff FAIZI0IR7?

plan2 toR™AIE 2x0i2 Fst, finishe SBAE S0z
Fstct,

® agreet= tOEYAIE EH0|=
eat

SR SZA0|Z2 SHAE SH0i2 Fok= stopped, S
ARl toBHAE 25 2X0Z F[5H= began, liked7t S0z
A OIE},

Flsk= SAlolct. eating —to

chete] SE4 ‘2rt 2k= 2loje] watch7t Z&stH, enjoye
HAIE SH0{2 7IX|2& watchingol2tz 2ot

Z0{21 heoll %7l be proud of2| bet is2 M0, MX|A} of2]
EX0{2! be= SFAIR! beingoz #rt,

21~23] sy |

Brian:

Ashley: 2, X2l 171 &
Aron:

21
22

L ZI7E0] S L SHE Wi, Lie &2 2 2o,
HH2 7 L RQ0] s,

S| ofL|oF?

Js0A AP| sHz XP| o2 sketn wsl, 152 e
2of| chali Lotof sH. A =Alste ol B2 AlRFE ERX[EL O
£ 1 =1 ATt 27 EZHsH.

STARI @E M2l LIHXl= 25 SXH2At0|CE

s3golct= LHE0| =ojof sl22 ‘ZFst olzke 2ol fairst

it

-

o

1l

23 Arong %l =01|71| LSHE AAR Fl2ty USRIH S05k Qe
o, CIE TTE A2t L8e 3= QK| St
24~26] siA | EIIEHQI Al2dof|A|,
OHd| Li= B u| M2 of, Ul ZIYS FYL? L= Xi7t AR,
JX| LI? O4FS| ARRI 7|7} W7 J1E Zofsle FolU? He

017 MZiL? OIES2 UK, JZXR? Mg ‘glof 2i 2l .



OIS0 XIF LIEE M7t H 29
Z 7ok, ¥X|? st5H
24 ojzHel RpAlofA| £ HX[o|=2 |ettero|ct,

25 ©ez BUs SAk: -ingdg Us

8 AE,

THE
AT,

WNERP

0 eE i -ingS £9ICt,

girl) Fofl 2ct,

26 2= 7 Theys ol L2 pimpless 7127ict,
e )
27 g e 7= HH
SHAIS 8510 2= 28| HS W & 5%
SIS E85l0i 2~328el HE & 4%
Fluency — -
SHAIS HE5I0 128 H2 & 3=
ot 28Iz YR HS MX| 28 0%
20| EXIe| @F 70~ US 33
ZHOILE EXte| 2F7t 271 U2 28
Accuracy -
2HO|LE EXe| @37t 371 US 13
EH0|LE EX @F 747 o1 UB (07S]
28 e R 7IE i
T L 6%
Bzl 2 400 & 43
Fluency HI7toll 22 2~371 & 38
gzl ef= 17 & 28
oS MX| = (OS]
2H0ILE ZEXte| 227t 0~ /US 48
Accuracy SRHO|LEEXte| 2F 7t 2~ U 25
20| ZXte| 2F7t 57 o US (0]
=
Chapter U5 | 2A}
unit15| Practice Test p. 59
A1 227k=71 2. oMoz goIER! El 2El|
3. YE0{Z MOIH Ho| S 4. Amof Qo U= A
5. 31 =
B 1. spoken 2.playing  3.holding
4. reading 5. made
C 1. The girlriding a bike
2.The man lying under the tree
3. the stolen motorbike
D (B)
D-1 (D)
A HREAE ~ohE, ~BII UE | MHEAKE ~El ~Ebs ~ESE
o= shMsICt,
B 1,5. 450 on|7t Zlo{o} 5tO2 THRAIS 2Lt
2,3, 4 552 207t £|0{0F S22 HAHRALS 2L
C_ 1,2, ‘~3l1 QL= 0|22 SRHEAZF HAIS AIGH= SAl0|CH
1. Sixi2AHriding)7t Sxof(a bike)g futstaz HALThe

Review Test

2. sixi2ALlying)7 =Aloj 2 (under the tree)2 2
AFThe man) Slof| 2c,

3. I7{2AKstolen)st ct=oz 2Alsloz HAKmotorbike) @
of =ct.

Aotol| 2ls 22|

HiSto 2 o

E 20|22 IAHRAE 20t

p. 60

01® 02@ 03® 04The girl wearing a red cap
05@ 06® 07Itypeda middle school science

book for a week.
1 Q@ Sxez MYE MAZ, £59| oojo|=z2 HxHREAR! filling

0| OtL|a} IAEALR! filled = Mot BTt

@= beSAtet &7 TiES THED, LIHXlE=
3!—2 3|-|:|.

® OfHx[ofl 2fsif THEOZI Zo|22
E2Al made7t zlofof it
HAR! the girl2 SIXHEAL wearing0| £AIGI=Z H{ESIC) o
THEALOl =Z017} =D HAF FolM AIBITL

NS AP o

259 2o|E LIEfE 1A

5071 siA | A|ZH Rlofole /5t &4

6

N

unit16 | Practice Test
A 1.have bought
B 1. have cut

Rl OfE walofl BIXj2H= 0[S Bt SIS BA HE HAES
2| Eioict 22 A2t mololg St E—Arér 2 ples Yo
I:O |

. ZAE{O] WEH, AlZE Fof
A}, BIXls XFESAKE

named7} Zlofof it

Q@ 2Ix|e| Hei &2 S0 U] =0t
RESAKIZA 2RIt 3t 22 U5 SOt S3tn njsiis HRE

2 g=st Aojck,

Chapter 06 | A|X]|

p. 65
2.has been

2. Has, grown tomatoes

C 1.she hasjust come back

2.They have not finished it

DO

. 20l ARM SR 7ER| 0 e SixftE el Znto|ct

. HOIMEE XIZ7HX|e] AlLE Tolez SxiEo] Ao ct
. cute| IAHEAFE cuto|ct,

. Sixfp= 0| o|22: THave[Has |+ 0| + T HEA~?,

N =N =



c_

1. ‘LIZiCH SotebM Bixfi= (Toll) UCH 2k= ojnjoj22 Siftas
#r} 2AHjusts REAFhaset 2EAFALO|of 2L}
2. 0| AEBHA OFEIE ZLIX| RHoOZ SixjtEo| BHE2S
&[}
_ E0|LIZIM OIRAUE 2 o glo B2 SIRiRAE(ZNE MO it
Unit 17 | p. 67

C-

D_

A 1.@moved ® have met
2.@started ® has grown
3.@arrived (@ has stayed

B 1. fortwo hours 2.never  3.threedaysago

C 1. have been to Busan five times
2.have not seen my aunt for a long time

C-1many times have you traveled abroad

D1.O 2.MA

_ HnitEE a0l Lojit o] SxiTEX| SR Feks OIF M 220
1L SR Al 2. 3xj=o| A
3. A Al
1. #xjtz ol Adi(have been)
2. sxjetzol 282 rxof+havelhasl+notneverl+atHg
Ab o~y
12024t Sl Q22 rej2AKsto)+havelhas [ +&0{+1t 7
BAF~7,
1. 2% S A% 91 oo = SIRHRAR(HIL)S 0
2. 50 years agos I7AZ LIELHDE 3j7 ANIZ £t
R T pp. 68~71

01@ 026G 03® 04@ 05@ 06haslived 07
® 08hasgone 09®, @ 10® broke out ® have
heard 11® 12® 13hashad 14 have lost 15
have not[never]done 161 have never thought
17 @ 18 @ 19 visited 20
He has not[never] played table tennis before. 21
® 22@ 230G 24@ 25Theyhave been at the

26@

about helping others.

camp for three days.

27 [Sample] (1) watched TV (2) visited your
grandparents  (3)left us (4)has had short hair (5)

have known each other
28 (1) Yes, she has been to the BigBang concert.[Yes,
she has.]  (2) She visited the science museum last

Tuesday.

St== havest S0i7k= 20| oit o7t 3018 el uf

1 =loil eato| IHEARQI eateno| Qg HiZhol= SiiARS
| =

o N O

10

have tHAl hasz 2ct
FOIZI 2t © AR Al @ SixiAtEe ZAnt

= ol
Q, @ M= 2= @ drRtzol Fd

Sxfetzo| AES LIEHH, all2 24 #Zst=2 have failed
7|. oH:lH:l.
xRz SQlenz siaidtEa golof s, MEE=ol chiz &

O Ml QlCtT gloo= ZHo| CiEo| Uit
Sixfetzo| BYoZ iMoo 2 SiiARZ S0{0F Sich Sixfet
2 9|2=22 Have[Has]+Z0{+27=2A} ~7,0|Ck,

STt 2| &S LIEHHCE,
SxietEe R2sionz 12 Chels 24 Qtaix| it

John2 sliLiciol 7o glooz ixfetzol Znfel has goneg &
ch

S5 37 ARS LEfE yesterday, last ~, ~ agos ¥
etz 28l £ 4 eick

@ e EF A 0l0|= 2 TIAHAIRZ 2L}

© 0T AIE 0|F A& SACDZ HMHAZE 2L,

11 @ last week= EX5 1i7{= LIEf22 has beeno] ofL|zt
WasZ #2Cf,
12 @ ~3p7| ti=ofl / FoiF 2%, @, @, @), ® ~0|32
13 ofdll 0|22 Z7(oll 23] QUCoZ HMAZ(IL)S L0t
14 ofAHXIE QoM XBE ZD UX| Yooz HRHAZ(ANE
=
15 2HE AIRGHA OFX Cf 5HX| R3Ho o2 HRfAR(AR)S 2Lt
16 itz ol S LIEHHTE
17 O SdARE EXEE 21 AI-S LIELE SAKTSE S A0|X|
QH=r}
18 2 Al 2Fol22 Xt & o2 2k 2lojel since last
weekE MESIX| o,
19 2Z UEis 2ARQI last weekends i AlFIQ & &
0|22 visited2 1XIct,
20 Z3e Uei= dxetEs 36, 7071 heo|Z2 hass &
Ct 2820|22 not £ nevers HEA Yol A{OF St
21 @= Szl 2=, = FY, O°F @= &S LIEHHC)
22~24] 1M |
UIEO|l= 32RH =7ES FIE LI o J= i HatM
OIR= IE 98 47} Q0. XIh = Z7| afoll a7t M3FAIZ1 3
M Rn2 RFE 2% =2 o,
OlLt= LIS J2i%0]. 222 Y LY 20d JE= Y
S0 2ol
22 Stz 2R0|m FHol mriQ| AlFo| LieaR '~ 02 2k 2
o|9| since 7t MEsiCt
23 A=1 dl2sh] JFcHE A2 & J2ick= 9jnjoj2E Wso| U
£ 0[2k= 529 talented 7t HHEICE
24 @ wizo0| oilLt7} RisiCHs A1F2 gict
25~26] siA |
ZHRIAOIM 2l 2| ot Hzofl & MIAIA 2 Sshdso] /U
Ch 52 32m A=of Fodstn ot 252 XIF FAIE Fotn

Ut Chriszt 217221 Alice 2t ojop7 [t QUL



Chris: ot Alice!

Alice: ¢t ---? of, ¢k, Chris.
Chris: Ol W L 2ol 2=shixle 24 2Lt
Alice: T2, xS0l= a7l of24Rlof. U7t today'2tm Lsts

o, Lh= W7t to die’2tn Usk= & AU,
Chris: 274 =2t Jgict

25 HMAR0I2Z "Folthave+mIAREALL] &AMZ2 MT 77t Lt
Etli= BAE 28 Z0f £ct
26 = M2 Chrisel ool thish olofr|stn Aem, Chriszt
Aliceo| o] el=six|n Y=Xl= 20l LIQX| =Lt

e )
27 ms W 1= HHE
DE 25f0| g2 9| & 6%
42510| &2 9| & 4
Fluency 2320l EHE WA & 3=
125f0] ge oA & 2%
3t 25z Kstst B2 M| 28 0d
2o|Lt HxIo) 287t 07l S 4%
Accuracy 2oLt HXo| &7} 2~3TH US 27X
2Ho|Lt HXIo| @871 571 04 AUS 0x
28 =g M 7= HH
22782 BT ehE 33
Fluency 2528 & 1252 Mt 2%
S2al0| MREX| U7LE P MX| 28 0x
2oLt Hxlo] @87 0~TH S 2%
Accuracy | 2oLt HXl| @27t 271 Qe 13
2o|Lt HXIo| 287} 37 04 US 0%

Chapter U7 | Z=A}

Unit 18 | p. 75
A 1. may 2. will 3.can’t

A-11.cannot

2. may

B 1.She s able to solve the math problem.

2.lam not able to lend you my camera.
3.He was able to fix the radio.

C 1.is—be 2. taking —take 3. finds —find
4. can remember not — cannot remember
D1.(C) 2.(B)
A 1.~sll= ZCt=can, may
F=will

~ 1l.can=beableto

2.cannot =be not able to
3. could =was[were] able to

C_

D

Unit 19 |

A 1.don’t have to
B 1.should
C 1. must[should] not

1, 3. REA CH20l= SAINSES 2t

2. be going to+SAtRE

4. 20| not2 ZSALRHEAL ALOof] 2L},

1. 3 LESMIR. L Zilo| Bl U2 E2 2o, / ~
Ct=cannot

2. TEIZ ikt LWt ZRF M2 TieA. /

]

Ao
T BA

~&t ZioIct = will

p. 77

3.should
3. must not

2.don’t have to
2.don’t have to

2. must 3.don’thaveto

DA

A

Unit 20 |

A1.©
B 1.would like to
C 1.used to be anurse

1,2. L84 ~& =7t glct 7+ E0{7tof Stk
. L84 “~sfiok Stk 7+ S047t0F St

. should = ~sfo} sict

.don’t have to = ~& ZeJt gict

. must not = ~sliAl= ot =iCt

. ~8llA= ot =ict = must [should] not

. ~Qlof| Sleict = must

~gt =yt gict=don’t have to

LHE4 “~sHOF SICF 7t S0{710F SiCh

WN = WN =W

p. 79

20 3.0

2.usedto 3. had better not

2.would like to go to bed

C-11.Would you like to go

D1.

A

2.She used to have short hair.
@ 2.0

. 2120] x| oo = see a doctoret of22Ict,

. HAZH0R S0f MU= hurry upzt of22Ict,

. Hi7t 2202 not eat anymore 2t 0{S2ICt,

.wantz £¢iocoz z2 ojn|o| would like to7} 2gtc}.

. but not anymoreztz ooz 117{o| SHo|Lt AES LIE
L= used to7} gict

3. ML AFR| 4= Z40| ECF 2= £110| #5101 had better
noto| gtc,

. ~0|t=0| X2 otLlct= used to

~ala Alct=would like to

t Aict=would like to

~5lx| ¢t= Z40| £ct = had better not

S

N = WON =

ol

~

ol

N =N =



Review Test pp. 80~83
01@ 02@ 03Can 04@ 05@ 06Q@ 070
08 @ 09 would[Would] 10® 11 wouldlike 12®@
13@ 14better 15usedto 16 don’t haveto
17 You had better not drink this milk. 18 @
19 ® 20was not able 21 must[should] not
22 didn’t use to[used not to] eat cheese 23 B
2,2 250 260

27 He will go to college in 2019. He will
travel to Europe in 2021. He will buy a car in 2026.
28 Can you ride a bike? / You’d better[should, must,
have to]wear one. / You’d better[should, must,

have to]buy one.

1 ‘~aiio} Sict 2k 2jnje| =SAK= shouldolct.

2 '~ 4 it 2l 9u|E UEHHE can’tyt 2lof Sick

3 '5l2f o) onjE M9l mays= canSE HHY & 2 ot

A ‘~afo} SiCt 2k= =£19| ojn|2 should2 £ct,

5 ‘~afjof SiCt o] =2 LEtl= have to7t Zesict

6 Aol sl2fe 7t ~sliE ECF 2k olnjo] ZSAF may
g 20t

7 @~0G9° mays ~UXKz DEC}aj= F=o| onjo|x[2t DL
‘~sli ECt 2k= sf2fe| jojo|ct,

8 @,® @, ®2 musts ~aliof Bict k= of
_l |'nustL ‘NOIO-” EEIC>-||:|.
9 would like to= ~5i ALY 2k= oJ0lZ LiERAD,
ots & = ZSA wouldE ARSSICL
10 xI22 5tm UX| 42 172l &2 used to= LIEFHALCE
11 would like toe ‘~&tm At 2k 2J0|S LIEKHCE
12 shouldn’t= should note| =Qlatz Zx(st= B0 £ 4 U
Ct,
13 @ Thad better+SAt&s, o] 282 Thad better not+SA}
H(~sIX| o= Zo] Eoh),0|ct,
14 ‘~3k= 20| ZCF = had betterS Mot it
15 2tqoll RISSHE SEOIKIZE of 0|4 GHX| Y= S LIEM o=

o

2= LiEfxIel @
2l 2Bt 252 ofnfsict,

gEe H

16 ~& za olol= don’t have to7t Soi7k= Zi0|

17 ‘~3lx| o= 2{0] ZCF &= had better not2=2 LIERHLE,
18 Zoizl 23t @, ©= ~& £ ¥, @ @ ~3iE Zcfaks

19 ~Yx= 2EC} = may, ~& A
20 could not2 was[were] not able toz Hiy & —’F &’A'Er

21 Foizl 28o| 24 ™20z 2x|2| 2jn|7} = must noto|
Lt should notg #ct

22 used too] 2822 didn’t use toLt used not to= ARst
c,

10 =gt s

gHA‘i |

585 77 7 0k LR SIEY 20l 25001
oFx

23 pullone’s leg2 ‘sEsict af= ol

24 O ~of SBIYUCY k= FZo| ojn|2 MQI 2 @o|ct Lt
MXl= ‘~elioF BiCf 2h= QRS LIEHHTE
25~26] sty |

S37t {27 Z=0| N AIREE

s 7IAIE AtSsHoF stk 5t O ™

HS7| LIk e atet UES ARSI

25 have to Soil= SAIRES 2ot

26 H 20N ‘=3Pt ofEAH Zi20| =7 2l E2S HAH oIS
A¥s5k= 20|ct,

M=E )
27 may A 7 1= i
will2 AF8510{ 32HS 25 & 3
Fluency will2 At8510{ 22Es & 23
will2 AF83a10] 1282 & 13
SHEHEE M2 MX| et 0™
2H0|LE EXte| 237t 0~ /S 33
Accuracy SHOILE EXIO| @37} 271 UZ 23
20|t ZXtel 227t 37 014 U (0]
28 ey e 1= B
DE Zeo| gde W & 43
22O gE Al & 23
Fluency — =
1= g2 WAl & 13
5 2 Hatst g2 MX| 28t [oF=!
20|t EXte| 237t 0~171 S 23
Accuracy E]I0|LE HXe| 2F 7t 2~31 US 13
EHOILE EXe| 2F7H47H 014 U (oF<]




S ~7h Eiot gk geict 2 sHAfsICt
1. $SEfo| 2M20|22 The SAHNOt + T7EAHbY |, A0k
2. ZEAPL Q= £EEj0| BMZ0|2E2 "AEA+NOt+be + 14

Chapter 08 | 2~SEH

Unit 21 | p. 87
A 1.wrote 2. kicked 3.was painted

C_ 43N 232 772 0je} A2 HOIE 242 F0i2 5101 5 71X/
LS4t kst
"ZVEHSEO| +he SAH+ T RAL+ B2,

=
"S@ 0| +be SAH+ Bp{Al+o /for /of + 2@ 0],

4. was built

B 1.saving —saved 2.invent —invented
3.she —her 4.been—be

C 1. was broken by my dog

D 1. ==EApI = 456 23l0|22 (B) gaves given o= iRt
2.was opened by the black cat 2. ZSAIL UE +SHQ BYS RS CE0l nots &0t
3.saw the scary movie (B) be not — not be
4.is grown by my father

C-11.was[were]eaten by his cat
2. wrote the card .
Unit 23 | p. 91

D1.(Q 2.(D) 3.(A
A 1.wasborn 2.werekilled 3.isheld

B 1.by people 2.bythem

mxE M A oH .
A_ 1. UuphExiE & 2ole2 WL‘”SL"“ C1.to 2.with 3.at
2. oj2lo|7t 22 #t 7io|=22 kicked 7t et
OiElob S5 22l = D1.® 2.0 3.®
3. 11 ol HiRIER E 20|22 was painted 7t Tt
4. =ME0| MIYZ! Zi0|=2 was builts 2t
B 1 I-[_HEPI"_T%HIJ ZdolE Saved7} EJEI'. A_ —7F—O17|' éc>H'(|3'|X|'7|‘ 0|'|—|E|' EHg()'EE ¢%EHE %Ef rbe%AH'I’-W‘I
2. M3} 2iEl Zio|=2 invented 7} 2t 2Ah
3. by + xR, B_ #9IR7} 8tolo|iLt SR51%] %2 22 by +#9IxLE 20|
4. 2=efo) 0jaf A= "Will+be +2HHEAL R LIEKHCE 7Kssict,
C_ Ssei 2unt 456 252 A2 288 U= SMel AmE wxn | G 1. beknown to: ~oipi ef2ixicy
7ict 2. be crowded with: ~oz 2H|ct
+ 256 : {4 +beSAH+ TrHRAH by + SRR, 3. be surprised at: ~0f s2ict
D 1. 2} Zz0] olsf A= 20|22 A=ej= Mof last nighto] D 1.theconcertsitoz g2 @7} Lt
[ = 2. Ajgsi=(are used) %2 ¥eiFs @7} i,
2. s9ix} ol by & wima|x| i Fofpict 3. arobberst oigai=stolenol 2= @7 sl
3. ottty S 712 40|22 SSEfo|ct,
R T pp. 92~95

01@ 02by 03® 04with,to 056G 06Q@ 070
08 @ 09 Was, written 10 must be watched
11 @ 12do alotofwork 13was, found 14 was
not brought by 15 They[We, People]callhim 16 ®
17@ 18 @, ® 19 Your money wasn’t stolen by
him. 20 Was this cake made by her? 21 The rules
should be kept by them. 22@® 23©@ 24 @ eating
—eaten 25Q 26@, ®

27 (1) The church was built by Antonio
Gaudi. (2)The Last Leaf was written by O. Henry.

Unit 22 | p. 89
A 1. 1 2A= Holl 2Jsl sHZEE == e
2. M7= Edisonof ofsh SHE(ALI?
3. 2252 o Adol| 2l 20l ELHRICE
B 1. were not found by

ct.

2. should not be opened
C 1. were shown the old vase by Tony, was shown to
us by Tony
2. was sent a mocha cake by her mom, was sent to 28 My brother’s friend, Marie, sent an e-mail to my
Jane by her mom

D1.(B) 2.(B)

brother. [My brother’s friend, Marie, sent my brother

an e-mail.] She wrote the e-mailin French.
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10

11

12
13

14
15

16

17
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19

20
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22

12

@ sing-sang-sung

SSEHOlIA] PIRH= Thy +BIRE R LIEKHCE

@ ‘~of PE=EsICE = be satisfied withoct

by ol2lo] TS M= 5E) 20|},

- be crowded with: ~o=z 2H|ct

+be known to: ~ofA| ax|ct

@ ~ @ by +8iQ(X}, 7t M2kE SSEf 20|t

M made —is made

@ cleaned —is cleaned

®destroyed —was destroyed

@invented —was invented

Q@ +SH 2% BHE2 beSAH+NOt+IHEALZE LIEHHTE
did — was

4A 2ER1 QF 3FAICE HRER 20| @, +SEZ HEE 20| @,
®olck @2 Judyzt LioflA| o QIHS FAct 2k= ojojolct,
gives} MOl 4544l 2Elo| MBS F0f +SE
OHS 42, ZFE=ER0] ofl TX|ALtOE £Ct

OIFAIL Gl tSEIQ| ARE2 T
LHEFHEE,

EEAP} Q= £5EH 29| ofR2 "ESAH+be+aARAL ~ 0|

ch.

[=pyi=3
_|'__C>"E

fu
ro

eSAHFO+IARAL ~7,2

@ sSH 259 M7t 20|22 »SE)
MOF i,
SSEHE "FO+SAHHER0, £22 LIEHHCE
OIZAPE Q= £BEfQ| 222 o|2Al+beSAt+F0o{+ 1=
Ab~7?,2 LIEFHTE
LSE 259| BX2 "TheSAHnot + IHEALE LIEFHTE
Z0f7I 2E2 SOXI7E LErRl0l2tM by +8QIX 7t Af2EEl Zio|2
2, 70{2 They[We, People]z siM SSEi= HfRH =ic},
Z747t wt7igl= Zi0|22 @ found= was found 2 mof Sict
3llAf | ZEE0| gof| HHEHoZ SEEUCE & AL F2 A LA
E|UCt O= 71501l B2 HUCE ZE 0l st SHS 20| MIleloHA A
SIAXIEE Ot Sz LHAZIX| QIUCE
@oll= aboutol, LiHX|ol= with7t £0i710F Sttt
S0 herg F0{Z st £8Ei= @, XESX Spanishg
02 §F £SEli= ©OIct,
0= your money2 321 E0|H, AlRl= 2p7{0|n BEE
0|22 +FEl= "'was+not+IHEALE #Ct
LS 250(0 QZAP} Qis QJ220/22 TheSAHFOHIE
Ab~?,9| HEZ 2Lt
EEAT} U= L6 2ROIDZ TZEAMDE+IIARAL ~,9| Ofe
o= #rt
23] st |

HE F, Lk= 0] oz EURIL. Le] M FO12 EXt A=
U0, CIlsl= JH= LIS & SHFAID LIS 2ol ARG
FAIR.

Ofx| R2l= SHSZ ARHSI2] 2t012. OfE O0|S0] LA 717t

0| Q0L 22EM OIFSES 21 At ZX0ie. I L= 2

2X9| isE wasz2

22
23

H2lo| 1 of2l A7 Mzidole, Juls %ol XIEne? & &

o US7R?

‘HUIRCE 2k SSEi7t Eo{of 5122 IS sentr} ZEsIt,

sixfel A2 F0I2 EX} A= EmLlatn #ict,

6] iA |

Of: Lo{LH YW ojLi= A7t Hal2 &= 7ok,

S, Lot SHXIEH UM QojLi= Hajls 5t YR AojLi=

MoflA| ZottsiR,

AHES 2 222 9l & Unizl AYSS HEE 4 UBLICE

SIS AEH0| S WES ECHT BHY BLICEH SHRIDH B3
S GAl0| CI2 gAloR oIMS 2 4 Q7 & =1 Qe

o 2ol 52 4 A =22 FUrh

© ‘HaIct 2k= 39| n|7t Zlofof 5t Yol beSAPE Qloa
=

R o ©

on

. I}7{2A} eateno] Eofof S
QHEMO| ACkn} HEE A2 (|X5IE2 however(d2{LhE
Z

Otx|at 2EolM HEE #2 @2 Go|ct.

e h
27 Wi i 1= B
LEES BE310{ 22XS TE & o
Fluency LEEE H2si0 122 & 1=
3t 2T Mx| 23 0%
SSEl 20| @77t oS 3
2Ho|Lt ZRI] @RIHIH IS 2
Aceurasy Mowoy mxtel 9a7t 27 9 e
SH0|LE HAte] Q737K O1A US 0%
28 wigy | MEIE HiF
SEEIS 22510 228G D5 4 6%
Fluency 1280 ge o & 3%
3t SAT NEGES MX| 28t 0F
20|t HRf| 287 0~17H S 473
Accuracy FHOILE HRle| @37t 271 US 28
Seo|Lt HAte| @7t 37K 04 US 0%
Chapter 09 | CHEHA}
Unit24| Practice Test p- 99
A 1.one 2.any 3. has 4. Both
A-1 1.some 2.0nes
B 1.0one 2.any 3.it
C 1.has— have 2.it—one

D1.(B)

3.was—were 4. have— has

2.(8)



Unit 25 |

A
B
Cc

D

1

2 =

3. each= &iA o4 FFSICt,

4. SAHE480(22 Bothy gt

1. 2E2| HMR0l= someo| Ugict

2. SEXEH S2HAIS thilsk= Zolck,

1. EEMS LiME 71217 1= Zolct,

2. Q2 R0A "Au7F 9| on|= M0|= Zo|ct
3. oilM 215t this erasers tiAlske Zolct,

1. both g4 24 FFsict

2. EEXG AAIE 712/7Ict (= a watch)

3. all Cr3of 24t 2 24 FF3Ict

4. eachE At o4 FZSICH

1. EAPL 2430|122 (B) student — students
2. each= &4 2 F35tch (B) are —is

p. 101

1.the other ~ 2.others  3.theothers

1. each 2. One, another, other

1. Li= HA HRFoIM 27t = BS Ol 8t H2 Tomo|
& 5t He MikeiCt,

AHPUSE MZE =R

e LEE 0SS E0tstz, UHX| HE= 7t
0

H

fo r

o]
r

2.
3.

mo &=
[
ok i

oM

e

C

-

B)

1. (10| = ot2| BOl|A) siLts ~, £ tLk= -2 one ~, the
other ...

2.(R2IE 3) Y= ~, ECI2 Y= -1 some ~, others ...

3. (&2 M & B0IM) siLts ~, LIHX| 8=
others...

1. M&: each other

2. (2 M K B0lM) St ~, E Sk -, LHHX] St -
one ~, another..., the other -

1.0one ~, the other ...: (£ Z0{A|) lLk= ~, & SiLf= -

2.one another: M2

3.some ~, the others ...: d2= ~ LIHX| M= -

= Ho| B S0jA 3t H2 one, E C}2 3 B2 the otherz Lt

Efchct, (B) another — the other

--:one ~, the

Unit 26 | p. 103
A 1. herself 2.herself  3.them  4.yourself
B 1.ourselves 2.themselves

3.himself 4. itself
C 1.himself 2. herself  3.for[by]yourself
D (A) by  (B) himself

A 1.the writer= Z=5k= McHHAL

2. Anneg Zxst= M EAL
3. 4314 2Eo| 7IH=X0{2 2X{Z0| Uit

4. help oneself: ot27 9ot

B 1.byoneself: x4

2. enjoy oneself: Z747| x|Lict
3. beside oneself: x&Alo] op
4. of oneself: &z

C 1. 2 xprol=z himself

2. ‘042 xpAl 0|22 herself
3. Ul ez o|=z for[by]yourself

D (A) by oneself: xtM, of oneself: xzz

- (B) 2x{0{7} 0| XAIS LIEHHE 20|22 KHCHBAIS 2cf,
say to himself: 71 xpAloj| 7 2sict

R T pp. 104~107

01@ 02 @@ 03other 04themselves 05
06 computer 07 @ 08yourself 09@ 10 @
11 myself 12any 13 others —the others 14 are —
is 15by 16 another 17® 18 ® 19 One,
another, the other 20 Help yourself 21@ 22®
23® 24@ 25Q 26@

27 Some people are walking (on the road).
The others are riding bicycles[bikes].

28 Some, others

=EX6 2712 5t JHE LIEILHEE oneo| YTt
some ~, others .... Y5 ~ £ C}2 UHL ..
Kathye} L= M2 =QQict of ojo|7t ook st
enjoy oneself=s ‘=77 X|UCk 0|22, Z0{Q! The students
of XHHHHAF themselvesE 2ct

5 Foixl Exu G= M 8Y, LIHXlE 25 FOIE Z=5t

oot

BN =

rr

anew one =anew computer
7 @ S2Ro| 0T RS LIEHE nf= someS #ct

@ bothe 242 gooaz is — are

2z



10
11
12
13
14
15

16

17

18

19

20
21

21

22

23
24

25

26

14

@ all cr=20| 2424t 222 was — were

@ EXst A 712)7|122 one — it

® eachi ¢4 #3522 have — has

‘Y RRAI S LIER o= yourselfE et

one ~ the other ...: (£ Z0i|lA) slt= ~, £ SiLt= -
M AlE 2% 712|712 allg 2,

2x ol myselfs £t

SEE0A 0= ~2tz’ o] ojnj2 M0|= 22 anyolch
OHY E0IM ‘SiLbs ~, LIHX| M2=
others ..." 2 &St
informationo| H4~0|22 SAk= are”t OtL|2t is7+ E/ofof &t
ct,

~'2 ‘one ~, the

- @ll) by oneself: xtr(=alone)

by oneself, for oneself: x7| &lez(=without help)

-one another: N2

-one ~, another ___, the other —: (Al ZojA)
& StLb= -, LHHX] Bibbes -

ol L= BALS| HHES Tloty| Sloi SHHAL ones &L}, 5

2 = onesE £rt.

B2 2z Yoz M0| 7tsotH, LIHXI= A SHSE H2f

0| E7ksstct.

one ~, another ..., the other —: (& S0|A) 5tLts ~, =

Stz -+, LIHX] 5Hb= -

help oneself: otS7% =ct

23] siM |

BiRlge ElNZ ZFOR $AHAIC, o

St ~

0.

UZ2 0f X wom, IS Ext Hlozt EIME o HE A 4

ek

g

ol= Eddnt Mel v = 2 A
money= A £ gl= AT LIEY miR M2 =2 Werhs A
0|22 littleo| S0{710F Stct,

Z0{7} 321! 24901 theyo|22 XFHHAR= themselvesTt
z|ojot it for oneself: 7| gloz

® EINZE ool At UeXl= AZEIX| LUCL

26] M |
OIRES O58 #nt 27 olztn E3l=dl, 1 olge 2=0|
QIHILE 7H UAUT7| whRO0ICt MX| 2FIH & etof U= A=22

7HE 2 o= Zolct,

224x| oo, NellyE &twofl £0i2t1, Bob2 o s0iict 7t
4 J0lls =29 £20] ZRIXL 1= =22 8|S Z0lst
x| esotct a2haf Nelly= Bobo| HY Ze= st mof2t 22 LY
AL
® FoiM 0|RE 4
a helping hand
it

@ Bob2 =22 = A2 S0kIR| icta Rt

45t D2 because’t ESICE
£ tiiiske 28i™Al oneo| E0{7k= ZO|

NEE] )|
27 ey i 7= B
BEHUHAIS 8510 284S 25 & 58

Fluency SHUHAIE 85104 1I2MS & 28

St E2AE MX| Zgt 0

2H0|Lt HXe| 287t el 33

Accuracy 2oL =R QFTH~27 US 28
2-0|LE EXte| 287t 371 O|MOIAL HE R & 0®

Some people are riding bicycles[bikes] (on the road).

The others are walking. / Some people walk (on the

road). The others ride bikes. / Some people ride bikes

(on the road). The others walk.

28 ey ME 1= !
SEEgol e WIS 2
Fluency |3t 2golgg wils E
St 2T Halth g§E MX| R (0]
ZHOILE HXfe| 237t ¢iZ 2H
Accuracy ZHOILE ZXfe| 2F7H I UZ 13
20|t HXtel 227t 274 old Us [oF=!
Chapter 10 | A} - EAIQ| H|w
unit27| Practice Test p. 111
A 1.easier 2.morecarefully 3.worse 4. better
A-11.sunny  2.well  3.youngest
B 1.best 2.as,as
C slowest
D1.O 2.(A 3.8
A_ 1,2 soilthano| Qleoz HlmZo| 2ct,
3. badly= 27%| #st5tH H|mZ2 worseo|ct,
4. g5 9ol fars Hlmz 2= 0170|1, 25 Fo| than2 vlms
ol 2= Ho|22 good 2| HlwFo| Agtct,
B_ 1. zxZe= 23ionz sagoR tgsit,
2. B Hlngo= thERIXIZE A2l ER20l= ¥ fast)ol ORI
DZfas+aZ+as, s 2t
C_ o7t 7hy wa| g3im 252 20/0|H, £710]7t OFX|2tof S0it
oo 2XI0lk= 7he =2 shdolct,
D_ 1. 2S+HRIS,9| 2MZ — XIS F7t+-est

2. las+2Z+as,
3. ZAZ+in + ZAL HYIE LIEHHE THAL, 38F0|22

mostE £2Ict,



Unit 28 | p. 113

A 1.heavy  2.threetimes  3.times, many
4. five times as many

B1.o® 2.© 3.0

C 1.Whois taller, Minsu or Minho?
2.ltis getting hotter and hotter

D1.D) 2.(O

A_ THiAb+as +2Z+as,, 28 twice, 3u 0142 TSR RAt

+times,
B_ rthe +t|mg ~, the +H|zg .., ~5lH &2 ¢S -
C_ 1.A2B = %7t ~5t?: 'Who ~ H|mZ, A or B?,

2. M8 o ~%t HlmE+and +H|DE,

D 1. Which ~ b|mZ Aor B?: A2t B & o= 20| of ~&tL|?

(D) and —or
2. HlmZ+and +H|wZ,; ME o

(C) fast — faster

~&HsHA

R T pp. 114~116
01@® 02®@ 03©@ 04The[the] 05® 06 of 07
Minju (is). 08@ 09 ® 10 longer, longer 11 @
giraffes @ elephants 12 as tasty 13 you — yours
14 The more we have, the more we want. 15 twice
as much money as 16 @ smarter ® better © more
handsome 17@ 18 @

19 (1) is the most popular sport (2) more
popular than basketball [less popular than football]
20 is older than Tom. / has twice as much money as
Tom (has). / has as many pets as Tom (has).

—

verye= HlugsS Zxg 4 it

2 @ thinxd 'HRS+oRig 02 Blis Hols A28 ot ¢
M7 -erg 20 HlmZS oH=Ct thiner — thinner

3 @ — Cathy is not as old as Sue.

®—Jane is younger than Cathy.

@—)ane is the tallest of the three.

®—Janeis not as old as Cathy.

A s | - RE 27D} HOB KSR, 7142 of B, (the +

Hlmg ~, the +tjuz ., 12)
« S0 7HE RS KulR= FHLR? (ZIME 75

5t =
5 "Which ~ dlmZ A or B?, 7202 & 30| i MElsHA

CHERS Sttt

6 TEHMZHIN+EALL HOIS Uiis BT, HAZOf+y

u o] El= F4EAL

7 UIx OjLf Sue M2 S EBict
541 | DLtz s & 220 s DLED g O B 220t
Suet O|LIHE 2HE RIGHK| RSICH
8 @ more cheap — cheaper
®as —than £=more —as
@ nicer —nicest
® high —higher
9 ®old — older

10 "wm3+and+ulm3,: B o ~&

11 =ol 3= 52 301M 7(2l0| 7k 717t 31, IR 71 22
A7t B0 LIzt

12 Tas+@Z+as,: ~at2 -5t

13 My MP3 player is a little more expensive than your
MP3 player.2| 20|22 you7t Ok|2t yoursatza sof Btk

14 Tthe+t|wZ ~, the+tlug . : ~5IH &2 Of -3t

15 THigAt+as+R¥Z+as ~,: ~ECH -u o =5t

16~18] 3o |

e L5501 282 Tole, 22 B TFES ME E0RIT,
X2t 8 oi22|1 HOFHUR. £Z7|= 0|7 . Olef AMMO| Ot
0. Buzz7t 22| stmof 2o, & 42 25| HHHAAR! Buzz
= XMEC o £E51Q. 1 0lol= MErt 258 o &l MXIo
MECH O 2701, ol 22| o] & 010|S0| 1 otolet &l
Tt =0 HOPBHR. OFRE O Old Mol el ZX| otR. X
= 2L oZA otH E27R7?

16 =loll thano| Qleoz HlmZ0| 070t &Ik smarte -erg
20|17, well2 272| #3l510{ better7t £/, handsome2
2ol moreE 204 HlwZS THECE

17 M2 2179| SHo= Qlsf Hh ZIE0| o o4 XiAlofA| BAlS
ZR| e=Che LE0|22 9|28 0l2k= 20]Q| lonely 7t RfHA
=]

18 @ Buzz7zt 220|220t 252 o Zaictn ok

e )

19 =tad W 7I1E |

Fluency S0 H|IES 0|85 2BEE 25 & 33
1=2ge & X

e MX| =gt 0d

=HOILE ZXte| @77t gl 23

Accuracy 2HOILE ZEXte| @B IH~2H S 18
=HOILt ZXtel @37 374 ol US (075

20 mted A 71 L]
HIZ BHZ AIBSI0 32MS B & 4

o2de 3

Fluency ETEPN ox
e MX| g 0™

2HOILE ZXte| 2370~ /US 23

Accuracy 2HOILE EXte| 2F 7t 2~37H US 13
ZHOILE EXte] @F 7470 ol US (OS]




Chapter 11| A}

Unit 29 | p. 121
A 1. ISO|[M7] MS0l] SXIE We m7kx| 2. 3RS0]
[EOlEZ g2 o 3. 47t Q2lsk7| Hol 4. L= &

olo =l
QIS Sl= S

B 1.began 2. are 3.am 4. finish
C 1. until she calls me
2. Before my motherimom] goes shopping
3. while he is driving[while he drives]

D1.B) 2.(A 3.0

A 1. until: ~& g7ix| 2.when: ~atrj
3. before: ~57| Hojl 4. while: ~sH= S0t
B_ 1. wheno| o|zi= SARHO| AR} 2p7{0|22, 0| AR|E 147

2 k&L
2~4. WS LIEH= 2AEOA= O2ie] Yg LIEHHGEIE SA=
AMHS Lrt.

C_ "HEAHFO+SAl~,
1. ~&tm7x|: until

~5l7| ®of: before

~5l= 59t while

| Xp7| Zof| x| =khzt.

M| LHZHEHOYES I, Lte] T2 25MIAC

H’H | L7t 228 sh= S0t Mal7t 23CH

O &=MZ 22rt,

OI

OII

H

1x

OI
>

o
wN—\_wN
on

o

Unit 30 |
A1, iR E0IM Lt Lizisg2
2. L= & X|2st7| ool

3. JeiM JEL 1 12 Enfsict
B 1. as[because]

p. 123

AACH

2.s0  3.because of
C 1. summer because | like surfing

2.dark and cold, so | turned on the heater

D1.©O 2.0 3.®
A 1.s0 ~that...: 0§ ~sliM --5lCt
2. because: ~ mj2oj
3.50: J2A
B 1, 3. ‘~ mj=off 2k= ojnje| because Ch2oll= Zoiet SAE Q!
=2 M1 because of CHS0= (CHAILL STHAIS £ct,
2. 50: J2fA
C 1. W=EP|Z Z0t517| W20l 7t 0190|122 Tbecause +Z0{+
SALE #C}

2. MR FYM I 2N H2E OO 'S0 +F0+SALZ AL
D 1.6l | L= S8t AlZto| gloiM 22X
2. 5liM | AL 20| IS OtAIE CE

M2 =xC}

= SM

16

et o

3. &M | 2RSS B HIMT| TR0 IRES A AR Al gig A
olck.
Unit 31 | p. 125

A 1.Unlessyougo  2.Ifyoudon’t pay
B1.© 2@ 3.0
C 1.eventhough I get up early in the morning
2.watch TV this evening unless you do your
homework
C-1 Although he is a middle school student
D1.B) 2.0

_if ~not =unless
_ 1.61M | 2271 236K ferhH £52 AP Zo|ct
2. 54 | O HIZ ke ofLXIZt O J2|7|E SO0tsicE
3. 6lA] | 19| ot WAECHD 5K o™ Georges OFR AU 5t
X| ef=ct,
1. "EEAHFO +SAF ~,
2. Ho| SAPt gleo @ FHEo| SAlRt O SH0{7t HA 2 FHoil
TS0 +BAL ~ 7} 20
1. (B) if —though[although, even though]
2. TR 0[2H9] YS L= ZR0I= SAls SIEo= #rt
(C) will practice — practice
Unit 32 | p. 127
A 1.either 2.but 3.and 4. have
A-11.either  2.is
B1.® 2@ 3.0

C 1.notonly lunch but also breakfast
2.Both Sarah and Tom are
3. look backwards, or you may fall
.B 2.D)

1. either Aor B: A2t B £ Z0i| 5iLt

2.notonly A but also B: A%atoiL|zt B

3.bothAand B:AetB £t

4. 'not only A but also B 7t Foiz2 4 wf, Bojl SAe| +2
gkxCh

1. 514 | 225 25, 22X oM

2. 514 | 2RSS 2l 2alsh, 22iH

3

Lol [ 2 7ER|

0| & 7ok,
20| 7|tisH 7ok,
X of, 2ZX| 2O =77} ChE Aok,
. A#atot|at Bz: not only A but also B
2.A2B £ct:bothAand B
3. ~alizh, 2X| pfoH & Zo|ch: THHE+or,

—_



JE ~alizh a2eie g Zolck o ojojold), (B)
Jtandd th= ‘of 2| 7kX| of2f, 22{H S0l wHEK|E 220t
2 oln|7} E51X| Y=Lt w2t and S or & Mok Bt

2. mot only A but also B, 7=20|c},

(D) and — but

R T pp. 128~130
01@® 02butalso 03@® 04@®@ 05@ 06 unless
you close 07 Unless 08 Ifyou 09 @ 10whilel
11 that 12 ® 13 because —
because of 14 will snow — snows 15 the key
16 172 18@ 19

watch movies

either at home or in the car
8 200WF(F

21 (1) Go to the dentist now, or you will feel
pain more. (2) Turn right at the corner, and you can
see the bank.

(2) because [as] Bill
(3) but (also)

22 (1) and you will get
arrived at the school before him
Ann couldn’t get

1 ® knows — know
Teither A or B,7t 0|2 MU 1ff, SAte| 4=

2 notonly A but also B: A2t OlLI2t B=

3 oojA HIZ ~0|X[gF 0| oo} sl=2 although[thoughl2
MLE
541 | HIZ SE0l= &0] OFF MIXITH &4t 22 SEES F0l=
‘B&stk= A2 ofch,

4 ME UEHAE RAROIME Dj2H2] US LIEHHCRIE SAkE S
g 20t

5 ooy HI7t 21 UAUSE STt 7t Elofok BTk,

= Bofl 2¢&ECh

SHA | HIZ7E 21 RSO S76H R2le A5 2UCh

6 "FYR+or= ~afat JX| o 8 ook of ko2
unless= WA HIY £ 4= Qict

7 ik ~5iR| etom(if ~ not) of oJn|E ZH= 4AKs unless

olct.

8 ryzZ+and =
M HY £ = Ch

Q siA | - 37t LiQ| Cl2lS HERS W], TI2|7F Al OFTH

<H7H 2 M, Lis 25 Eoll HREHAN S gl=Ch

10 ‘93t 2= sorojgls EXE Zolt U= 7[ztoj=2 whileg
MOF i,

11 Tso~that...,.2 i ~aHA] -

12 Zoizl 251t @ ~ w2l @ °
2ZM @ ‘~t oy

13 because ct2ol= "Fo{+ZAL ~,2 M2 M7 because of
Ch2oll= (CHBAL E= STAE 20t

14 ©E Ui SAROIME Dj2f Al cHAl

~alie}, 22iH -8t oot 2l Eog ifE M

ik of ojnlE LiEtHLE
~SH| [[}a ® NU}EL @ '~

&ixl AlKIZ Aof 2

2 will snow7t ofL|2} snowszta {oF Stct,
15 either A or B: A%t B & =0i| 5lLt
16 @ Mot only A but also B,7t 0|2

gk=ct are —is
17 U= 719240] ZX| 20t 2

X| et L= gA 2 Zolct (If ~ not)

2 0 SAte] #= Boll

18~20] st |
Q: ik Xt RO FHE O XY, FU= HE € K= =Lt
272

A: OfgiLICh of2iRel 22 ofol Ag MAE 4 97| H2ol 7
Axoz ZZ Xiof FLICH 0f2=0| 2E 5120| 8AIZIS Zict
T 7Pel BAICE Of2i22 OfF| 12AIRIS BELICE ofeise
Q5T 0FI5| 4A|Z10] OF-! 8A[ZHS XIOF BiL|CH,

18 w1zt SojlA 0|RE Mosin o0 R because?t MAsiCH
19 oo &2 MHTIX| ei=Cln ooz HAO 8AIZIS RH= ARY
2 T 124+ Mot Stof2te oXs| 8AIZES Xiok SiTt,
20 (1) 229 S oo FS KA 4 ULt () R2ls FrRiMoz
&= Xlof sict
M= )
21 ztad i 71 B
TEAE ABoIH & 2HS 25 & 23
Fluency 1224 13
e Mx| 28 (05|
SO EXte| 287t S 2
Accuracy ZEO|LEEXe| 2B U 1=
=HOILE Zxtel @37t 271 01 US [075]
22 mtaEd A 71 |
HEAIS AIBSI0 He 2F & 43
gzl g2 27 & 3=
Fluency
gzl e 17 & 28
e MX| 28 00X
=HOILE HXte] @F7H0~7H /US 23
Accuracy 2H0ILE ZXte| 237t 2~37H US 13
FHO|LL EXte| 287t 47 01N S [oF]

Chapter 12 | ZHA|CHHA}

Unit 33 |

A 1.®,who 2. @©, which

B1.® 2.© 3.0

C 1. Ofttk7} LA Ak= Tl
2. OHHX|7} RS OFEAR! Xt
3. L7t 0l A| |0l 2l Ft=
4. L20i| M THS0T! XtSAt

D1.O 2.0©

D-1 (B)

p. 135
3.®,who



D_

D-1(B)

Unit 34 |
A 1.that

1, 3. MAPFARIO|T 20|22 ZA YA WhoE £Ct,

2. MAPARBO|T FZ0|22 2AICiEAL whichE 20t

1. MAI} ARZO|22 who o HZZ|0o Bt

2. MEALH AF20|22 which @t HZig|ofof sh=| the bus=
©driveso| 2xio{z gttt

3. M3} AIS0|22 which et Hiziz|ofof st the problems
= @ solve o| 2 Uit

ZACHEAD} 0| 11= HE A0l U= BAE FHFEZE ~EF O 5

A-IoH:|-

1. (O M3t AEI anyoneo|22 whichZ who 2 mof sttt

2. (C) MstiAt 7} Af29l the bookso|m &7 BACHEA L 2

sl22 whoseZ which 2 o} st
ASZ A IHEAP} 252 whichE whose 2 Mok it

p. 137

2. which 3.that

B 1.wholthatlcan speak three languages

2.whichlthatlis in the picture

C 1.whois from Spain is very pretty

2.that my father likes best is Arirang

C-1allthe cakes that | made yesterday
DA

18

1. MEADARZ0| T, EAEAIENlE SX07} gle a2 EAItHE
Atz AFE S Bh= S8 Z40[2foF Sih

2. ML AFS0| T, BAHEARE =
= MEE k= FZo|2tof Bt

3. MAZ} ARO[, EACHEARE o= FXIAF withe| 2017} ¢l
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2.The song is Arirang.of The songg $Alsk= ZAHHAL
Ho| E0{71= Zol=2 thatez AlztsichHthat my father
likes best).

Z017t The necklaceO0|=22 SAk= wassE £ct

SHAY [ a7t A 520l ZR>A|M PHEOIRICE

Z0{7} glooZ EACHHAL

et o

Unit 35 | p. 139
A1.where 2.how 3.when  4.why
B 1.What  2.which  3.what  4.which
C 1.why the reindeer is called Rudolph
2. have what they need
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® 02@ 03®@ 04@® 05@® 06 which[that]

07@® 08 @@ 09 whose shoes 10 the mountain

first met[met first]

that[which] keeps them warm.
which[that] 19 ® 20Camera operator (does).
21 (1)library, where

where 11® 12® 13is—are 14 the wayhow —
the way2l how £

Z 5iLf2t 22C1 15 the day when we

16 why you are [werellate 17

The oil destroyed the penguins’ natural oil

18 who —

(2)museum, where
(3)Holiday[Vacation], when

22 (1) | have a friend who[that] has a sister. (2) The
cap (which[that]) my father bought for me is on the
table. (3)This is the village where | was born.
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01® 02@® 03tobuysome groceries 04bought
me a bicycle 05hearhim play the piano 06
nothingtodo 07 something cold todrink 08@ 09
@ 10passthemtome 11eachother 12the
other 13@ 14®@ 15@ 16® 17 had better 18
unless 19 Have, been 20 If you turn off the lights
21being 22It,to 23 @ 24 ® 25®@ 26 It’s not
easy to take care ofthem. 27® 28®@ 291 30©®
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01@ 02@®@ 03®@ 04 because shewas 05 smart

enough to open

06 ® 07 ® 08 bigger 09

who(m) [that] she met 10 what they willdo 11to

turn off 12 has not[never] seen
14 so, that

13 what to do

15but 16 either 17@ 18 ® 19

worrying 20 was invented 21 the biggest 22 The
more you get 23 (A) which (B) who 24 @, ® 25
won’t — don’t 26 He looks surprised. 27 & 28
like 296 30@
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